CHAPTER 7 - Selected Answers “Evens” 
          p.1
Section 7.1 (p.392)

2. (0,2) 4. [image: image1.jpg]


 6. 
[image: image2.wmf](4)(2)2 & 2(4)(2)10(4,2) is a solution
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8. solution  10. solution  12. not a solution  14. (-2,-2)  16. (1,2)  18. 
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  20. (16,-16)

22. (3,1)  24. (0,9)  26. 3 months 28. 15 weeks 30. D  32. -3  34. 1  36. -8  38. 
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 46. 15.651 48. .42  50. 4.5 

Section 7.2 (p.399)

2. Solve for the variable that is already ‘all by itself’ as ‘y’ in:  3x – y = 6  4. 
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6. (1,2)  8. (1,2)  10. Equation #2 is best. Solve for y.  12. The bottom equation (#2) – ‘d’ 

14. The 2nd equation  16. (6,2)  18. (3,8)  20. (2,9)  22. (5,15)  24. (-3,-3)  26. (12,17) 

28. 137 student tickets & 388 general tickets 30. 
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  32. Let x = meters uphill and y = meters downhill. x + y = 2200 and 
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 34. The error in this substitution method attempt involves the substitution. The first equation was correctly solved for 
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. However, the ‘box’ should have been substituted into the 2nd equation as: 
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. It was incorrectly substituted back into the 1st equation.
36. H  38. 6g  40. -9m  

42. [image: image13.jpg]
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48. [image: image16.jpg]


 50. [image: image17.jpg]


 

52. [image: image18.jpg]


 

54. 1,2,4  56. 1,2,5,10  58. 1,2,3,6  60. 1,2,7,14
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p.2

Section 7.3 (p.405)

2. Error in multiplying the 1st equation by -5. The result should be: 
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; (10,-9)
4. Add the 2 equations to get: 2x = 18 and hence a solution of (9,-1)  6. Rearrange the terms so that ‘like terms’ are vertically aligned. Solution: (3,2)  8. (14,6)  10. (-1,1) 

12. (1,1)  14. (1,1)  16. (-2,3)  18. 
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  20. (1,1)  22. 
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  24. (16,-1)  26. (3,1) 

28. (50,50)  30. 
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  32. (1,-1)  34. (4,3)  36. (1,-4)  38. (3,0)  40. 
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  42. (0,4) 
44. 
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  46. (x,y,z) = (9,3,9)  48. H  50. 
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56. Both ordered pairs are solutions.  58. (-3,2)  60. true  62. false  64. false

Section 7.4 (p.412) 
2. (441,-141)  4. (-5,10) 6. q, d  8. 7 quarters, 9 dimes  

10. [image: image28.jpg]


 (3,2)  
12. Addition Method (y’s cancel)  14. Substitution Method (solve equation #1 for x first)  16. Addition Method (after multiplying the 1st equation by 2 and the 2nd equation by -3.  18. Addition Method (2,1)  20. Addition Method (2,-1)  22. Substitution Method (1,-1)  
24. Addition Method 
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 26. Addition Method (3,0) 28. C  30. sprint for .5 hr, jog 1 hr  32. y = 172x + 6200; y = -16x + 6500  34. In 3 years each tree will be 26 inches tall.   36. 4

38. G  40. not parallel (different slopes)  42. parallel (m = 0 for both lines) 

44. [image: image30.jpg]


  46. [image: image31.jpg]


  48. [image: image32.jpg]



50. 7/12  52. 29/35  54. 11/12  56. 
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p.3

Section 7.5 (p.420)

2. same line  4.  [image: image34.jpg]


  infinitely many solutions; equivalent equations 

6. [image: image35.jpg]


 one solution; two lines intersecting at one point  

8. infinitely many solutions  10. E, no solution  12. F, infinitely many solutions  

14. A, one solution  16. The 2 lines do not have the same slope and therefore will intersect (off this graph).  18. infinitely many solutions  20. no solution  22. no solution  

24. no solution (parallel lines)  26. (0,-4) one solution (intersecting lines)  28. (-1,-4) one solution (intersecting lines)  30. generator rents for $6/hr, saw rents for $2/hr.  

32. No, there are infinitely many solutions for the system.  34. n = - 9  36. C

38. 55, climbing rate of 55 ft/hr  

40. [image: image36.jpg]


 42. [image: image37.jpg]


44. [image: image38.jpg]



46. 8; 8  48. 25; 25 

Section 7.6 (p.427)

2. [image: image39.jpg]
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p.4

Section 7.6 (continued)

8. Sample Answer: 
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  10. C  
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24. Sample Answer: 
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  26. Sample Answer: 
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28. Sample Answer:
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  30. Sample: 
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42. 32 sq units 44. J  46. 47  48. 14  50. 26  52. 1  54. 76  56. 4.4  58. 4.25  60. 1.5  62. 4.25
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p.5
Chapter 7 Summary and Review (p.431)
2. (1,1)  4. (-1,0)  6. (-3,-1)  8. (-1,-1)  10. (-9,5)  12. 
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  14. (2,-4)  16. (11,-16)  
18. 
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  20. infinitely many solutions  22. (2,6) one solution
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  26.[image: image60.jpg]
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Chapter 7 Test (p.435)
1. (1,-1)  2. (2,2)  3. (4,6)  4. (-3,-2)  5. (-1,3)  6. (-2,3)  7. 
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  9. (2,6)  
10. 2 bags of oyster shell grit and 4 bags of sunflower seeds  11. (-1,1) one solution  

12. (3,4) one solution  13. no solution  14. (3,-1) one solution  15. infinitely many solutions  

16. (3,-6) one solution 
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  20. [image: image67.jpg]


 21. [image: image68.jpg]


  22. [image: image69.jpg]



23. 
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Chapter 7 Standardized Test (p.436)

1. C  2. A  3. D  4. C  5. B  6. C  7. C  8. C  9. A  

Maintaining Skills (p.437)

2. 20   4. 
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